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Sl mel D % FEE HNAD Hel (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
=)y 6,361,725 12,617,702 A6,255,977
S FESt HE 2 #F N 940,571 975,711 A 35,140
MO QAM Al HEE AHYR HMal 587,420 642,560 A 55,140
s & B 108,670 93,810 14,860
201 L2l 75,930 64,570 11,360
01 At 22l 75,210 63,850 11,360
0 get=2Hl 57,450
O XNsMds BEANA 70
500& * 3& * 1,000% 1,500
O 3HES 2 nsul ¢ Ao g0l
20,0003 * 48 = 1002 8,000
O Mg - Nz Z284M 2 EENT R
50,000& = 48 * 1108 22,000
O Zah ZAF AN & 2XUY g0l
10,000& = 2& » 1008 2,000
O slge 25 M4 R0
100& = 2,000 » 638 1,200
Otz =2 12,000& = 108 » 12& 1,440
O dIMNRES +2 8,900
SAEX 25,000 = 2024 « 12&8 6,000
MNEES 400,000& * 53 2,000
d3I| Y 300,000& = 33l 900
O #HIMRII 22 2 9,600
WA, SEAJ EH & EH
350,000 * 2CH = 23] 1,400
Doy EY ¥
350,000 * 4CH = 33 4,200
ZeZed EY € £
2,000,000& * 1CH * 23 4,000
O EZFAMRII =4&Hl 2,810
ERSYE] 50,000& = 27CH 1,350
TelH 70,0003 * 4CH = 23 560
WA Y SAHI| 150,000& * 200 = 33l 900
0 2g8+¢ 10,000
O Mg - NEZ24 AR 2]
100,000& = 53 » 20 10,000
O =&l 7,160
O Mg -Hzs Z24 &
8,000& * 4% » 90 2,880
O NYMEHAZ & 88,0008 » 38 » 2562 600
O 2J3A &£ XNEHEEH =Y
8,000 = 2% x 30¢ 480
O NEBYN BE Z
8,000& = 5% = 50¢ 2,000
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O HZFa =Y 8,000& = 5% = 30¢ 1,200
O egx= 600
O Z4ZAE FHI X 300,000& * 2& 600
02 2524l 720 720 0
03322 2 WA 720
O 3z B2 HEEER
30,000& = 209H 600
O getdstz 10,0002 * 12& 120
202 o4dl 23,640 20,640 3,000
01 = LH o4 1l 23,640 20,640 3,000
O XNEHESH & 80,000& = 3% = 52 1,200
O XNgHEH2 gfts &Y
80,0008 * 3% * 52 1,200
0 2 G4l Z& X 80,0008 * 3% » 52 1,200
0 ®Jtsl 85 =g 80,0008 » 3% » 52 1,200
0 20AI2e 29 DS
80,000 = 29 2 « 23 640
O 2ASERNE 20,000& = 5% = 50¢ 5,000
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O Jer solgias g
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202 04l 10,480 10,480
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02828 8 2(a2es8) 7Y
,000,000& = 14 5,000
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O HeEssx 80,000,000& * 1CH 80,000
O SHs A8 S
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O 22U (B ALy 22E)
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O A KEY U AL IJMEE g &
ol 10,000 = 2= » 1008 2,000
O 2A2) MRHE K92
25,000 « 2= * 100¥ 5,000
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O SA2) MRHE Z2E
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0 2| 3,360
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O S8 WREDM =4
8,000& * 2% x 105¢ 1,680
202 044l 3,280 3,280 0
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O 3AH Hel & AMMSsEE 88X A=
20,000 = 28 = 50 2,000
0O 5427 3H 848 0=
80,000 x 2% x 22 x 43| 1,280
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O 22 ZAH Z2l8l 120,000& * 15 = 128 1,440
O 22 &A &Il 70,0008 * 18 » 12& 840
O 22 &AM JtA2 80,0003 * 15 » 128 960
O AN&EE ZMeRg3
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O 28 ZA sX2eldl 10,000& * 109m’ 1,090
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SEBH(EE) 415
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SE(UE) 300
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150,000,000& * 14 150,000
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O OXNggsz 20,000& = 12& 240
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- e 10,000,000 * 2CH 20,000
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01 = LH 4 Hi 14,040 14,040 0
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